1.// 01 siE10EEZHR

2 import java.io.*;

3 public class CodeO1{

4 public static void main(String[] args) throws IOException({
5 BufferedReader br;

[§ br=new BufferedReader (new InputStreamReader (System.in));
7 System.out.println ("8HEXZE 1 0ELIRICEEUEI ")

8 int[] octal=new int[4];

9 System.out.println ("4HTD8EEZE FMUKID AL LT IZE0\)
10 for (int i=octal.length-1; i>=0; i--){
11 System.out.print ((i+1) +"HIEDIEE?2>™)
12 octal[i] = Integer.parselnt (br.readLine());
13 }
14 int valuelO = octal[octal.length-1];
15 for (int i=octal.length-2; i>=0; i--)
16 valuelO = valuelO0*8 + octalli];
17 System.out.print ("8HEE") ;
18 for (int i=octal.length-1; i>=0; i--)
19 System.out.print (octall[il]);
20 System.out.println ("(X10EE T "+valuel0+"TI ")
21 }

22}



1//7 02 st ERUIL

2 import java.io.*;

3 public class Code02{

4 public static void main(String[] args) throws IOException({

5 BufferedReader br;
6 br=new BufferedReader (new InputStreamReader (System.in));
7 System.out.println ("stEMBEZHELEIT");
8 int counter = 0;
9 int miscount = 0;
10 boolean flag exit = true;
11 char([] ops={"+"',"'=","*',"/"};
12 while (flag exit) {
13 counter++;
14 System.out.println (counter+" FEHE");
15 int a = 1 + (int) (Math.random() *9) ;
16 int b = 1 + (int) (Math.random() *9) ;
17 int op = (int) (Math.random() *4);
18 int ans = 0;
19 switch (op) {
20 case 0: ans = a + b; break;
21 case 1: ans = a - b; break;
22 case 2: ans = a * b; break;
23 case 3: ans = a / b; break;
24 }
25 int c;
26 miscount = -1;
27 do{
28 miscount++;
29 if (miscount == 2) {
30 flag exit = false;
31 break;
32 }
33 System.out.print (" "+atops[op]ltb+" = 2 ");
34 c = Integer.parselnt (br.readLine());
35 }while (ans != c¢);
36 }
37 System.out.println ("#&TUET");

38 }
39}



17/ 03 HIEETE

2 import java.util.*;

3 public class Code03{

4 public static void main (String[] args) {

5 System.out.println ("IESXDHEHIEZERDET") ;
6 int dotsout = 0;
7 int dotsin = 0;
8 double x;
9 double y;
10
11 for (int 1=0; 1i<1000000; i++)
12 {
13 x = new Random () .nextDouble () *Math.PI;
14 y = new Random () .nextDouble () ;
15
16 if (y <= Math.sin(x))dotsin++;
17 else dotsout++;
18 }
19 System.out.println ("HIEEPDKLE"+ (Math.PI*dotsin/ (dotsin+dotsout))+" CI");
20 }

21}



1y// 04 33B>=a2L—>3>

2 import java.io.*;

3 public class Code04{

4 public static void main(String[] args) throws IOException({
5 BufferedReader br;

6 br=new BufferedReader (new InputStreamReader (System.in));
7 System.out.println ("B =1L —>3>&{TLET");

8 System.out.print ("EEDHIFHER (0~100) ZADULTLZEE L \n>") ;

9 int rate = Integer.parselnt (br.readLine());
10 int counter = 0;
11 int[] road = new int[64];
12 int[] road update = new int[64];
13 boolean trafficlight = false;
14 int trafficlight pos = road.length/2;
15
16 for (int i=0; i<road.length; i++)
17 road[i] = (int) (Math.random()*100) < rate 2 1 : 0;
18
19 while (true) {
20 for (int i=0; i<road.length; i++)
21 System.out.print (road[i]==0?"' ':'0");
22 System.out.print ("\r');
23
24 int state = 0;
25 for (int i=0; i<road.length; i++) {
26 if(i == 0){
27 state = 4*road[road.length - 1] + 2*road[i] + road[i+1l];
28 }else if (i == road.length-1) {
29 state = 4*road[i-1] + 2*road[i] + road[0];
30 }else(
31 state = 4*road[i-1] + 2*road[i] + road[i+1];
32 }
33
34 if (i != trafficlight pos && i != trafficlight pos+1) {
35 switch (state) {
36 case (O: case 1: case 2: case 6:
37 road update[i] = 0;
38 break;
39 case 3: case 4: case 5: case 7:
40 road update[i] = 1;
41 break;
42 }
43 }else if (i == trafficlight pos) {
44 switch(state) {
45 case (0: case 1:
46 road update[i] = 0;
47 break;
48 case 2: case 6:
49 road update[i] = (trafficlight 2 1 : 0);
50 break;
51 case 3: case 4: case 5: case 7:
52 road update[i] = 1;
53 break;
54 }
55 }else(
56 switch(state) {
57 case 0: case 1: case 2: case 6:

58 road update[i] = 0;
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break;
case 4: case 5:

road update[i] = (trafficlight 2 O

break;

case 3: case 7:
road update[i] = 1;
break;

for (int i=0; i<road.length; i++)

road[i] = road update[i];
counter++;
if (counter % 16 == 0)
trafficlight = !trafficlight;
try{

Thread.sleep (200);
}catch (Exception e) {}

1);



1// 05 BT —A

2 import java.io.*;

3 public class Code05{

4 public static void main(String[] args) throws IOException({

5 BufferedReader br;
6 br=new BufferedReader (new InputStreamReader (System.in));
7 System.out.println ("/BET — AZIBHEIT") ;
8 int mapsize = 5;
9 int[][] map = new int[mapsize] [mapsize];
10 int[][] shipmap = new int[mapsize] [mapsize];
11
12 int shiplen = 3;
13 int[][] shippos = new int[2][2];
14 shippos[0][0] = (int) (Math.random() *mapsize);
15 shippos[1][0] = (int) (Math.random () *mapsize);
16 int[] [] shiptail can = new int([2][4];
17 int[][] shiptail dir = {{0,shiplen-1,0,-(shiplen-1)}, {-(shiplen-1),0,shiplen-
1,0}};
18 int index = -1;
19 for (int i=0; i<4; i++){
20 int tmpx = shippos[0][0] + shiptail dir[0][i];
21 int tmpy = shippos[1][0] + shiptail dir[1][i];
22 if (tmpx >=0 && tmpx <= shipmap.length-1 && tmpy >=0 && tmpy <=
shipmap.length-1) {
23 index++;
24 shiptail can[0] [index] = tmpx;
25 shiptail can[1l] [index] = tmpy;
26 }
27 }
28 int tmp = (int) (Math.random () *index) ;
29 shippos[0] [1] = shiptail can[0] [tmp];
30 shippos[1][1] = shiptail can[1l] [tmp];
31
32 int unitx = (shippos[0][1] - shippos([0][0])/ (shiplen-1);
33 int unity = (shippos[1][1] - shippos[1]1[0])/ (shiplen-1);
34 for (int i=0; i<shiplen; i++){
35 shipmap[shippos[1][0] + unity*i] [shippos[0][0] + unitx*i] = 1;
36 }
37
38 System.out.println ("E&"+shiplen+"DEKEIEDMNEZIZLUETELLD") ;
39 for (int i=0;i<map.length;i++) {
40 for (int j=0;j<map([i].length;j++)
41 switch (map[i] []J]) {
42 case 0O:System.out.print('?') ;break;
43 case 1l:System.out.print('*') ;break;
44 case 2:System.out.print('.') ;break;
45 }
46 System.out.println () ;
47 }
48
49 int mx,my;
50 do{
51 System.out.print ("xEEERDEZ AN L TLIZEV ") ;
52 mx = Integer.parselnt (br.readLine());
53 System.out.print ("yEIEEDMEZAD LT ZEL>) ;
54 my = Integer.parselnt (br.readLine());
55

56 if (map[my] [mx] == 0) {



57 if (shipmap[my] [mx] == 1) {

58 System.out.println ("EDM~A. P ") ;

59 map [my] [mx] = 1;

60 }else({

61 boolean detected = false;

62 for (int i=-1; !detected && i<=1l; i++)

63 for (int j=-1; !detected && j<=1; j++)

64 {

65 if (my+i<0 || my+i>map.length-1 || mx+j<0 || mx+j>map.length-1)
66 continue;

67 if (shipmap [my+i] [mx+j] == 1) {

68 detected = true;

69 }

70 }

71 if (detected) System.out.println("U>UD. EWLWKDE");
72 else System.out.println (MEL(CFRVNKDE");
73 map [my] [mx] = 2;

74 }

75 lelse(

76 System.out.println ("EDVOSHABBEHDLDE") ;
77 }

78

79 int cnt = 0;

80 for (int i=0;i<map.length;i++) {

81 for (int j=0;j<map[i].length;j++) {

82 switch (map[i][J]) {

83 case (O:System.out.print('?');break;

84 case l:System.out.print('*');cnt++;break;
85 case 2:System.out.print('.') ;break;

86 }

87 }

88 System.out.println();

89 }

90 if (cnt == shiplen)break;

91 }while (true) ;

92 System.out.println ("ERTEZEULEZ»");

93 }

94 }



